13

13

14

13 12

A 108,789 107,772 1,017 0.9
B 105,349 104,702 647 0.6
C=A B 3,440 3,071 369 12.0
D 0 65 65
E=C D 3,440 3,006 435 14.5
F=X Y 435 292
G 1,505 1,361 144 10.6
H 0 0 — —

=F+G H 1,939 1,653




35,600 32.7 34,410 31.9 1,190 3.5
2,225 21 2,207 2.1 18 0.8
7,498 6.9 6,948 6.4 550 7.9
2,478 2.3 2,432 23 46 1.9

24,287 22.3 23,511 21.8 776 3.3
1,351 1.2 1,321 12 30 2.3

73,439 67.5 70,829 65.7 2,610 3.7
1,451 13 1,477 14 26 1.8
4,262 3.9 4,151 3.9 111 2.7

13,444 12.4 11,128 10.3 2,316 20.8
5,797 5.3 6,030 5.6 233 3.9
1,216 11 923 0.8 293 31.7

841 0.8 4,908 4.5 4,067 82.9
3,339 3.1 3,836 3.6 497 13.0
1,861 1.7 1,695 1.6 166 9.8
3,141 29 2,795 2.6 346 12.4

35,351 32.5 36,943 34.3 1,592 4.3

108,789 100 107,772 100 1,017 0.9







58,624 55.6 58,094 55.5 530 0.9
31,842. 30.2 32,396 30.9 554 1.7
20,329 19.3 19,418 18.6 911 4.7
6,454 6.1 6,281 6.0 173 2.8
7,659 7.3 6,713 6.4 946 14.1
2,203 21 438 0.4 1,765 403.4
5,456 5.2 6,275 6.0 819 13.1
39,066 37.1 39,894 38.1 829 2.1
17,636 16.7 18,564 17.7 928 5.0
1,507 1.4 1,479 1.4 28 1.9
5,565 5.3 5,608 5.4 43 0.8
4,513 4.3 3,394 3.2 1,120 33.0
0 0.0 500 0.5 500
1,472 14 2,102 2.0 630 30.0
8,373 8.0 8,248 7.9 125 15
105,349 100 104,702 100 647 0.6
837 0.8 848 0.8 11 13
17,658 16.8 18,100 17.3 442 2.4
40,627 38.6 40,437 38.6 190 0.5
13,489 12.8 13,697 13.1 208 15
455 0.4 456 0.4 1 0.3
1,653 1.6 1,714 1.6 61 3.5
10,670 10.1 8,891 8.5 1,779 20.0
437 0.4 499 0.5 62 12.4
13,060 12.4 13,770 13.2 709 5.2
6,462 6.1 6,291 6.0 171 2.7
105,349 100 104,702 100 647 0.6




A 3,440 3,005 435
B 71,293 70,830 463
C=A/B 4.8 4.2 0.6
(

A 60,834 63,131 2,297

B 74,598 71,603 2,995

) C 73,601 70,636 2,965

D=A/B 81.5 88.2 6.7

E=A/ 82.7 89.4 6.7




6

A 6,448 6,281 167

B 71,293 70,830 463

C 2,598 0 2,598

+ D=B+C 73,891 70,830 3,061

E=A/D 8.7 8.9 0.2

12 13 13 C 13 D=A+B—
50,133 1,861 4,785 47,208

12 13 13 C 13 D=A+B—
22,544 4,513 841 26,217







